Tema ypoka:
OopmMyrnbl NOHUKEHUS

CTENEHMN.



TpuroHomMmeTpuyeckme popmynbi

tga - ctga=1 sin’ .o+ cos’ o =1




PopmMyrnbl CNOXeHnsA
sin(a + )= simno cos B +cosa sin B
cos(a — )= cosa cos B +cosacos B
sin(ac — ) = sina cos B —cosa sin B
cos(a+ B)= cosa cos S —coso cos f
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ig(Pp+y)= = ish g

toor —tg3

)= 1 +ztgatgf



YNpoCcTUTL:

a)cos 20 cos 3o —sin 2a sin 3o = COS S

6)sin 2o, cos 4a + cos 2o sin 4o =S1n 6

6)sin Sa cos3a + cos Sa sin 3o = S1n 8
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BbIYUCNNTD:

a)sin16O cos14’ +cos16’sin14’ = sin30° :%

6)cos17° cos13” —sin17°sin13” = cos30° :g
6)sin 24° cos21° + c0s 24" sin 21° =sin45° = %
2) cos17° cos28” —sin17°sin 28° =cos45° = g
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BbLIYNCNINTDL:
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BLiyMCINTL:
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K)2sIn —CcoS— =Sin— = —
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Ipumenumo hopmynel 0601H020 ap2ymenma

sin 16x = 2sin8xcos8x
cos8x = cos” 4x—sin” 4x
2sin7xcos7x = sinl4x
cos” 3,5t —sin” 3,5t = cos 7t
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SIn — = 281N —COS —
4 8 8



[1OJTYH/M HOBbIE ®OPMYIJI1bl
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cos? X + sin?

x=1;

sin’x =1 - cos? x;

cos 2X = cos’ X - sin® x;




2

cos? X + sin?

x=1;

sin’x =1 - cos? x;

cos 2X = cos? x - sin” x;

1+ cos ZX_
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COS™ X =
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cos? X + sin?

x=1;

cos’x=1-sin%x

cos 2X = cos? x - sin® x;




2

cos? X + sin?

x=1;

cos’x=1-sin%x

cos 2X = cos’ X - sin® x;

1+ cos 2x.
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COS™ X =




DOopMVYJIbI HOHMKECHUS CTCIICHMU:

2 1+ cos 2x_ 2 1+ cos 2x_

COS™ X = ) COS™ X =
2 2

[loaymaunTte, Kakme
BO3MOXHOCTW OTKPbIBAKTCH
nepeg HamMu ¢ NPUMEHEHNEM

3TUX POPMYN



ITak, cTeneHb MNOHMXAaeTCH 3a CUET
yABOEHUNA apryMmeHTa:

X
. 1+ cos2x X 1+ cosx x Ll+cos 5
TSR , €0S%— = , €0S%— = '
2 2 2 4 2
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. l-—cos2x | ,x 1l-cosx  _x Ll—-cos5
Sin x = , Sin‘— = , Sin‘— =
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BbiBO4 chopMYIibl MOHMXKEHUS
CTEeNneHn Ons TaHreHca w
KOTaHreHca

2 1+ cos 2x 2 1+ cos 2x
COS™ X = > . COS™ X = > :

1 — cos2x » 1+ cos2x
ctgix = |
1+ cos2x 1 —cosix

tg-x =



A 4+ CcCoOoOs Z=>X

CO s = =< =
2 1+ cos2x
COS” X = T;
2 . 1+c032x_
COS™ X = T;
9 1+ cos 2x
S X= ——
2
2 1+ cos 2x
CosS* X = T;
2 1+ cos2x
COS™ X = TJ
2 14 cos 2x 2 1+ cos 2x
cos™ X = > 1 COS™ X = ——
2. 1+ cos 2x
cos“ X = ) )
2 . 1+c052x_
COS™ X = > )
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1+ cos 2x_

COS™ X =

1+ cos ZX_
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C0s“xX= ———;
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2. 1+ cos 2x 2 1+ cos 2x
(08" X = ———| COS“ X = ————;
2 1+ cos2x ) 1+ cos 2x
CoS" X = | [COS™X = )
2 2
2 1+ cos 2x
COS™ X = T;




3agaHue Ha OOM:

NeNe 21.20(a, 6), 21.22(a), 21.23.



